

Prove that

$$I = \int_1^{\infty} \frac{x\sqrt{x}\log(x)}{x^3 + x\sqrt{x} + 1} dx = \frac{4}{81} \left(\varphi_1\left(\frac{1}{9}\right) - \varphi_1\left(\frac{4}{9}\right) \right)$$

where $\varphi_1(s)$ denotes trigamma function

Proposed by Vasile Mircea Popa-Romania

Solution by Togrul Ehmedov-Azerbaijan

Let $x^3 = m$

$$I = \frac{4}{9} \int_1^{\infty} \frac{m^{\frac{2}{3}} \log(m)}{m^2 + m + 1} dm = \frac{4}{9} \int_1^{\infty} \frac{m^{\frac{2}{3}} (1-m) \log(m)}{1-m^3} dm$$

Let $m = 1/z$

$$I = -\frac{4}{9} \int_0^1 \frac{z^{-\frac{2}{3}} (z-1) \log(z)}{z^3 - 1} dz = -\frac{4}{9} \int_0^1 \frac{z^{\frac{1}{3}} \log(z)}{z^3 - 1} dz + \frac{4}{9} \int_0^1 \frac{z^{-\frac{2}{3}} \log(z)}{z^3 - 1} dz$$

$$= \frac{4}{9} \int_0^1 \frac{z^{\frac{1}{3}} \log(z)}{1-z^3} dz - \frac{4}{9} \int_0^1 \frac{z^{-\frac{2}{3}} \log(z)}{1-z^3} dz$$

$$= \frac{4}{9} \sum_{k=0}^{\infty} \int_0^1 z^{3k+\frac{1}{3}} \log(z) dz - \frac{4}{9} \sum_{k=0}^{\infty} \int_0^1 z^{3k-\frac{2}{3}} \log(z) dz$$

$$= -\frac{4}{9} \sum_{k=0}^{\infty} \frac{1}{\left(3k + \frac{4}{3}\right)^2} + \frac{4}{9} \sum_{k=0}^{\infty} \frac{1}{\left(3k + \frac{1}{3}\right)^2}$$

$$= -\frac{4}{81} \sum_{k=0}^{\infty} \frac{1}{\left(k + \frac{4}{9}\right)^2} + \frac{4}{81} \sum_{k=0}^{\infty} \frac{1}{\left(k + \frac{1}{9}\right)^2} = \frac{4}{81} \left(\varphi_1\left(\frac{1}{9}\right) - \varphi_1\left(\frac{4}{9}\right) \right)$$